Pericykloida — skratena, obyéajna, predizena

x = (R—r)cos % + ccos (R_Tr)t, y = (R—r)sin % — csin (R;Rr)t, teR.

(R=r)¢
r

x = (R—r)cos ¢ + ccos

, ¥y =(R—r)sinp — csin

@, pER.

obycajna pericykloida: ¢ = r

[KI<IIRI]>] [=]be+]

beerb@frcatel.fri.uniza.sk http:/ /frcatel.fri.uniza.sk/ beerb


mailto:beerb@frcatel.fri.uniza.sk
http://frcatel.fri.uniza.sk/~beerb

	anm0: 
	0.EndLeft: 
	0.StepLeft: 
	0.PauseLeft: 
	0.PlayLeft: 
	0.PlayPauseLeft: 
	0.PauseRight: 
	0.PlayRight: 
	0.PlayPauseRight: 
	0.StepRight: 
	0.EndRight: 
	0.Minus: 
	0.Reset: 
	0.Plus: 


